
 
21.97
558.0  

 
11.63
295.5  

4X M6 x 1.0 15mm

HANDLES

KEEP VENT
AREA CLEAR

STATUS LCD

 
1.16
29.4  

 
3.41
86.7   

16.79
426.5  

 
2.55
64.7  

 
8.17
207.5  

REVISION HISTORY
ECO ZONE REV. DESCRIPTION DATE APPR'D

12345678

12345678

AA

BB

CC

DD

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO PLANAR SYSTEMS, INC., ANY REPRODUCTION IN PART OR WHOLE WITHOUT THE WRITTEN PERMISSION OF PLANAR SYSTEMS
IS PROHIBITED. THIS DRAWING IS SUPPLIED FOR INFORMATION, IDENTIFICATION, ENGINEERING, EVALUATION, AND/OR INSPECTION PURPOSES ONLY AND MAY NOT BE USED AS BASIS
FOR THE MANUFACTURING OF PRODUCTS OR THE FURNISHING OF SERVICES TO PLANAR SYSTEMS OR TO ANY THIRD PARTY UNLESS AUTHORIZED IN WRITING BY PLANAR SYSTEMS.

TOLERANCES:

ENGR BY

DRAWN BY

CHECKED BY

USED ON

MATERIAL

FINISH

EJS

 
 

04AUG16
PLANAR SYSTEMS, INC.
1195 NW COMPTON DRIVE
BEAVERTON, OR 97006 USA

TWS PRODUCT OUTLINE
TITLE

SIZE

D
PART NO.

-
DRAWING NO.

TWS outline-
REV

A
SCALE

1:4 DO NOT SCALE
SHEET

1 OF 4

050-0218-02 REV B

THIRD ANGLE PROJECTION

DIMENSIONING AND TOLERANCING PER
ASME Y14.5M-1994

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN MILLIMETERS [INCHES].

=  ±1°

XX=  ±.25

.X=  ±.5

X=  ±1

SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE.1.

NOTES: UNLESS OTHERWISE SPECIFIED.



 
.83
21.0   

21.97
558.0  

 
23.62
600.0  

 
47.24
1200.0  

 
.83
21.0  

 
11.63
295.5   

13.29
337.5  

 
26.57
675.0  

F G CENTER TILE BRACKET

PERIMETER TILE BRACKET

CENTER CABINET Z-AXIS ADJUST
BRACKET IF NEEDED
M6x1.0 x 16 LONG SHCS
USE 4mm HEX KEY

M6x1.0 x 16 LONG SHCS
USE 4mm HEX KEY

X-AXIS TIE/ADJUST POINT BOTH SIDES
M6x1.0 x 16 LONG SHCS AND
M6x1.0 NUT PROVIDED.
USE 4mm HEX KEY AND 10mm DRIVER.

Y-AXIS TIE/ADJUST POINTS (TOP ANDBOTTOM).
 M6x1.0 x 16 LONG SHCS AND M6x1.0 NUT PROVIDED.

USE 4mm HEX KEY AND 10mm DRIVER.

DETAIL F
SCALE 1 : 1

CABINET ATTACHMENT
M6X1.0  16mm
M6x1.0 x 16 LONG SHCS
PROVIDED USE 4mm HEX KEY

Z-AXIS ADJUST POINTS IF NEEDED
M6x1.0 x 16 LONG SHCS

PROVIDED USE 4mm HEX KEY

DETAIL G
SCALE 1 : 1

Z-AXIS ADJUST POINTS IF NEEDED
M6x1.0 x 16 LONG SHCS

PROVIDED USE 4mm HEX KEY

CABINET ATTACHMENT
M6X1.0  16mm
M6x1.0 x 16 LONG SHCS
PROVIDED USE 4mm HEX KEY

12345678

12345678

AA

BB

CC

DD

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO PLANAR SYSTEMS, INC., ANY REPRODUCTION IN PART OR WHOLE WITHOUT THE WRITTEN PERMISSION OF PLANAR SYSTEMS
IS PROHIBITED. THIS DRAWING IS SUPPLIED FOR INFORMATION, IDENTIFICATION, ENGINEERING, EVALUATION, AND/OR INSPECTION PURPOSES ONLY AND MAY NOT BE USED AS BASIS
FOR THE MANUFACTURING OF PRODUCTS OR THE FURNISHING OF SERVICES TO PLANAR SYSTEMS OR TO ANY THIRD PARTY UNLESS AUTHORIZED IN WRITING BY PLANAR SYSTEMS.

SIZE

D
PART NO.

-
DRAWING NO.

TWS outline-
REV

A
SCALE

1:4 DO NOT SCALE
SHEET

2 OF 4

050-0218-02 REV B

NOTES: UNLESS OTHERWISE SPECIFIED.



A

A

B

B

CC
DD

E

STATUS LCD

4X M6x1.0  15mm

SECTION A-A

COMMUNICATION
OUT 1 (RJ25)

COMMUNICATION
IN 1 (RJ25)

LAN (RJ45)HDMI IN 1

HDMI OUT 1

SECTION B-B

COMMUNICATION
IN 2 (RJ25)

COMMUNICATION
OUT 2 (RJ25)

HDMI IN 2

HDMI OUT 2

SECTION C-C

100V/240VAC
20A IN 2

(OPTIONAL)
100V/240VAC
OUT 1

SECTION D-D

100V/240VAC 
OUT 2

(OPTIONAL)
100V/240VAC 
20A IN 1

 
.39
10.0  

 
.39
10.0  

4X DETAIL E
SCALE 1 : 1

2X M4x0.7  10mm

M6X1.0  15mm

12345678

12345678

AA

BB

CC

DD

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO PLANAR SYSTEMS, INC., ANY REPRODUCTION IN PART OR WHOLE WITHOUT THE WRITTEN PERMISSION OF PLANAR SYSTEMS
IS PROHIBITED. THIS DRAWING IS SUPPLIED FOR INFORMATION, IDENTIFICATION, ENGINEERING, EVALUATION, AND/OR INSPECTION PURPOSES ONLY AND MAY NOT BE USED AS BASIS
FOR THE MANUFACTURING OF PRODUCTS OR THE FURNISHING OF SERVICES TO PLANAR SYSTEMS OR TO ANY THIRD PARTY UNLESS AUTHORIZED IN WRITING BY PLANAR SYSTEMS.

SIZE

D
PART NO.

-
DRAWING NO.

TWS outline-
REV

A
SCALE

1:4 DO NOT SCALE
SHEET

3 OF 4

050-0218-02 REV B

NOTES: UNLESS OTHERWISE SPECIFIED.



SINGLE HORIZONTAL
TRIM

DOUBLE HORIZONTAL
TRIM

DOUBLE VERTICAL
TRIM

SINGLE VERTICAL
TRIM

VERTICAL TRIM
BRACKET

HORIZONTAL TRIM
BRACKET

CORNER TRIM
M4x0.7 x 16 LONG
TRUSS PHILIPS SCREW

M4x0.7 x 8mm LONG
PAN HEAD PHILIPS SCREW

4X M4 x 0.7  10mm
TOP AND BOTTOM

TRIM BRACKET MOUNTING

2X M4 x 0.7  10mm
SIDE TRIM BRACKET 
MOUNTING

 
71.62
1819.2  

 
40.62
1031.7  

H

J

J  
.38
9.6  

 
.38
9.6  

DETAIL H
SCALE 1 : 1

DISPLAY AREA

 
23.61
599.8  

 
47.24
1199.8  

 
13.28
337.3  

 
26.57
674.8  

.04±.04
1.0±1.0

TO DISPLAY
SURFACE

 
3.2
80  

 
3.8
97  

SECTION J-J
SCALE 1 : 8

VERTICAL TRIM HORIZONTAL TRIM

12345678

12345678

AA

BB

CC

DD

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO PLANAR SYSTEMS, INC., ANY REPRODUCTION IN PART OR WHOLE WITHOUT THE WRITTEN PERMISSION OF PLANAR SYSTEMS
IS PROHIBITED. THIS DRAWING IS SUPPLIED FOR INFORMATION, IDENTIFICATION, ENGINEERING, EVALUATION, AND/OR INSPECTION PURPOSES ONLY AND MAY NOT BE USED AS BASIS
FOR THE MANUFACTURING OF PRODUCTS OR THE FURNISHING OF SERVICES TO PLANAR SYSTEMS OR TO ANY THIRD PARTY UNLESS AUTHORIZED IN WRITING BY PLANAR SYSTEMS.

SIZE

D
PART NO.

-
DRAWING NO.

TWS outline-
REV

A
SCALE

1:4 DO NOT SCALE
SHEET

4 OF 4

050-0218-02 REV B

NOTES: UNLESS OTHERWISE SPECIFIED.


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8

	Sheet2
	Drawing View9
	Drawing View10
	Drawing View11
	Drawing View12
	Detail View F (1 : 1)
	Detail View G (1 : 1)

	Sheet3
	Drawing View13
	Section View A-A
	Section View B-B
	Section View C-C
	Section View D-D
	Detail View E (1 : 1)

	Sheet4
	Drawing View20
	Drawing View21
	Drawing View24
	Detail View H (1 : 1)
	Drawing View26
	Drawing View27
	Drawing View28
	Drawing View29
	Section View J-J


